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[bookmark: _cl5jadbqpce2]Fetch
Firstly, the contents of the program counter is transferred to the memory address register.  This address of the next instruction to be executed is placed on the address bus and the control unit then instructs a memory read operation to allow the instruction at this address to be transferred to the processor via the data bus. This instruction is then loaded into the memory buffer register. At the same time, the program counter is incremented so that it points to the address of the next instruction to be executed. The contents of the memory buffer register are copied to the current instruction register. 
[bookmark: _6vjhuefjkacu]Decode
The control unit decodes the instruction in the current instruction register. The instruction is split into opcode and operand to determine what type of instruction is to be carried out and check if additional data is required from memory. If additional data is required, its location in memory will be determined.
[bookmark: _bpnw8m7nkdus]Execute
Sometimes additional data will be required before the instruction can be executed. If this is the case, this will be fetched from memory. The opcode will be used to determine which part of the processor needs to be used to execute the instruction and the instruction will be executed by this part of the processor. The result of the operation is stored in the accumulator and the status register is updated. If the instruction executed was a branch instruction then the program counter is updated accordingly.
